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If g(x)=x%, f(x)=x+1 then (fog)®)=(A) ¥’+1 (B) ¥+x (C) x*+1 (D).
(x+1)>  Hint: (fog)x)= f(gx)=f(x")=
If g(x)=x* then g'()=(A)1 B) 2 (C)3 (D)4. Hint: g'(x)=2x

1 1 1 1 ... 1 L
jo xdv= (&) - B) 3 (©1 (D) ; Hint jo xafx=§x2l0

T
0

j;’cosxdx=(A)1 B) 2 (C) -1 (D) 0. Hint: j:cosxdac:sinx

w-(A) 1 B) -1 (©) % ®) __;_

y=1

If y=f(x) satisfiesx” +y*> =2, ﬁnd%

Hint:2x+2y-y'=0

Find the area of the region bounded by y=xand y=x" (A) % B) 211- © é (D) %

Tde A= 1 2 — 1 2 1 3z —
Hlnt.A—_[) (x—x )dx—(zx ~3* )IO_

Find the minimum value of x+ y subject to the constraints x*+ )y’ <4 and y>1.(A)

—2 B) -v2 (©) 1-43 ) l; Hint: See the figure below.

Find the interval of convergence of the power series » x' =1+x+x*+x>+---. (A) {0}
i=0

®B) L) (©) [-Ll] D) (-w,0)

Hint: The power series Z x' is a geometric series with ratio x .
i=0

Let [x]be the greatest integer < x . Find the Riemann integral I: [x] dc.(A) 4 B S

(C) 6 (D) It does not exist.
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Define max {a,b}:= {a, if a>b

o 8 10
b i bea’ Find jﬂmax{ 1,57} dx . (A)2 ()5 (©30D)

Hint: j-:max{ 1,x? }dx= I;l dx + f x? dx

11.

12.

13.

14.

15.

0, if x is rational.

Let f: R — Rbe a function defined by f(x) = { Find the Riemann

1, if x is irrational.”
integral [ f(x)dx.(A) 0 (B) 1 (C) +e (D)t does not exist.

Hint: consider the lower sum and the upper sum.

If f:R— Ris twice differentiable and f''(x) is a nonzero function, then the equation
f(x)=0 (A) may have one real root but no more. (B) may have two real roots but no more.
(C) may have three real roots but no more. (D) may have infinitely many real roots.

Hint: f"'(x)is a positive or negative function.

Find the center of mass of the homogeneous solid (one eighth of the unit ball )

4 4 4 3 3 3

S=3(x,y, 2492 +22<1,x20,y20,z20(. (A) (—,—,— B (—,—,—

{@ra e +y +2 $1r2092022008) iz B) Gono)

J,.;. _r Il_rz zrdzdrd 0
333 111 ..o— Jo Jo
C) (=,—,— —,—,—) Hint:z=
()(888)(9)(333) T4
8 3

4
Let f(x)= Za,.xi be a fourth degree polynomial function with real- valued coefficients.
i=0
frQ)=f-H=1, f'O=-1, f'(-D=1,and "= f"(-1)=0, then (A) a,=0

B)a,=1 (C) a0 @O) aq,=0. Hint: @) =cx-Dx+1)=c(x’-1)

If f(x):1 ! —, then the third derivative /""'(0)= (A)0 (B) 3! (C) 2! (D) 4!
-X
Hint: , 2=1+x2+x4+x6-t~---, x|<1.
-X
-The End-



